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Risposte

1. 684

2. 100

3. 846

4. 8

5. 272

6. 46

7. 45

8. 470

9. 983

10. 139

11. 894

12. 987

13. 141

14. 64

15. 448

16. 661

17. 848

18. 323

19. 252

20. 36

Trova il valore delle variabili

1) 66 + B = 750 B = 684

2) 581 + C = 681 C = 100

3) 968 = 122 + E E = 846

4) 990 = 998 - F F = 8

5) 162 = 434 - G G = 272

6) H = 970 - 924 H = 46

7) J + 947 = 992 J = 45

8) 723 - K = 253 K = 470

9) 59 = L - 924 L = 983

10) 981 - 842 = M M = 139

11) 858 + 36 = N N = 894

12) P - 981 = 6 P = 987

13) 803 - 662 = Q Q = 141

14) 4 + 60 = R R = 64

15) S = 260 + 188 S = 448

16) 753 - T = 92 T = 661

17) 82 = U - 766 U = 848

18) V = 450 - 127 V = 323

19) 854 = 602 + W W = 252

20) 959 = Y + 923 Y = 36
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Trova il valore delle variabili

470 846 8 100

983 894 987 139

45 272 684 46

1) 66 + B = 750 B = 684

2) 581 + C = 681 C = 100

3) 968 = 122 + E E = 846

4) 990 = 998 - F F = 8

5) 162 = 434 - G G = 272

6) H = 970 - 924 H = 46

7) J + 947 = 992 J = 45

8) 723 - K = 253 K = 470

9) 59 = L - 924 L = 983

10) 981 - 842 = M M = 139

11) 858 + 36 = N N = 894

12) P - 981 = 6 P = 987

Risposte

1. 684

2. 100

3. 846

4. 8

5. 272

6. 46

7. 45

8. 470

9. 983

10. 139

11. 894

12. 987

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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